

117 East Columbus Avenue Suite 100 • Bellefontaine, Oh 43311 commissioners@logancountyohio.gov (office) 937-599-7283 · (fax) 937-599-7268

Joe M. Antram • Mark A. Robinson • Michael E. Yoder

David Henry, County Administrator david.henry@logancountyohio.gov 937-292-4008

ddoss@logancountyohio.gov 937-599-7284

DeDe Doss, Clerk Administrator Jenny Richardson, Human Resources Director jrichardson@logancountyohio.gov 937-599-7280

Resolution No. 104-24

The Logan County Board of Commissioners met in regular open session on this date of April 16, 2024 with the full board present.

Mr. Mark Robinson moved that the following resolution be adopted:

AWARD REBID LOG CR 18 PROFILE IMPROVEMENTS-ENGINEER RE:

WHEREAS, bids were received on April 2, 2024 for the rebid of LOG CR 18 Profile Improvements, and

WHEREAS, three bids were received from J & J Schlaegel, Inc. \$167,228.25, Shelly Company Northwest \$183,27089, and Boss Excavating and Grading, Inc. \$238,364.29.

WHEREAS, all bids have been reviewed by the Logan County Engineer and a recommendation has been made to accept the bid of J & J Schlaegel, Inc. 1250 E US Highway 36, Urbana, Ohio 43078-8002 \$167,228.25 and enter into a contract for the same.

THEREFORE, BE IT HEREBY RESOLVED, by the Logan County Board of Commissioners to accept the bid of J & J Schlaegel, Inc., 1250 E US Highway 36, Urbana, Ohio 43078-8002 in the amount of \$167,228.25 and enter into contract for the same.

Mr. Joe Antram seconded the motion.

Roll call resulted as follows:

Mr. Michael E. Yoder, President

Mark Robinson, Vice President

I, De De Doss, Clerk/Administrator, hereby certify this to be a true copy of the proceedings as taken from the minutes of the meeting of the Logan County Commissioners on this date of April 16, 2024.

De De Doss, Administrative Clerk

OFFICE OF THE LOGAN COUNTY ENGINEER P.O. BOX 427 1991 COUNTY ROAD 13 BELLEFONTAINE, OH 43311

Received

APR 11 2024

Logan County Commissioners

www.lceo.us

SCOTT C. COLEMAN, P.E., P.S. LOGAN COUNTY ENGINEER

Telephone: (937) 592-2791 Fax: (937) 599-2658

April 05, 2024

The Honorable Board of Logan County Commissioners 117 E. Columbus Avenue, Suite 100 Bellefontaine, OH 43311 APPROVED BY THE BOARD OF

LOGAN COUNTY COMMISSIONERS
MOTION

PER RESOLUTION

DATED_

Re:

Rebid - PID 115979 - LOG CR 18 Profile Improvements Tuesday, April 02, 2024 at 11:00 A.M. - Bid Opening

Gentlemen:

I have reviewed the bids which were received and opened at the above date and time. All of the bids appear to be in order meeting all specifications. A bid tabulation summary below with details attached.

Company	Bid Amount		
J & J Schlaegel, Inc.	\$ 167,228.25		
Shelly Company - Northwest	\$ 183,270.89		
Boss Excavating and Grading, Inc.	\$ 238,364.29		

Therefore, I am recommending that your honorable board adopt a resolution awarding the bid to J & J Schlaegel, Inc., 1250 E US Highway 36, Urbana, OH 43078-8002, in the amount of one hundred sixty-seven thousand, and two hundred twenty-eight dollars, and twenty-five cents (\$167,228.25) and enter into a contract for the bid amount.

In accordance with ORC 9.24, we have checked the Auditor of State's Unresolved Findings for Recovery Database and the federal system for awards management. Ray C. Hensley, Inc. was not listed and we have retained the certified search confirmation page in the project file.

Respectfully submitted,

Scott C. Coleman, P.E., P.S. Logan County Engineer

SCC/wtb

Solicitation Information

Logan County Engineer's Office

Solicitation Number

Rebid - PID 115979 - LOG CR 18 Profile Improvements

Deadline

04/02/2024 11:00 AM EDT

Advertised

03/12/2024 11:00 AM EDT

Description

A road profile improvement project on Logan County Road 18 with said project beginning approximately 1,000 feet to the south of Township Road 200 and terminating just south of Township Road 200.

DBE Goal: 6%

Project Estimate: \$154,477.84

Location(s)

2397 County Road 18, Bellefontaine, Ohio, 43311

Bidders

Business Name	Address	Phone
Shelly Company - Northwest	1700 Fostoria Ave Findlay, OH 45840-6240	(419) 422-8854 x3401
Boss Excavating and Grading, Inc.	2800 Harrison Rd Columbus, OH 43204-2588	(614) 876-1658
J & J Schlaegel, Inc.	1250 E US Highway 36 Urbana, OH 43078-8002	(937) 652-2045
3 Bidders		

Item	Quantity	J & J Schlaegel, Inc.		Quantity	Shelly Company - Northwest	
Item	Qualitity	Price	Extension	Quantity	Price	Extension
ITEM LIST						
203 EXCAVATION CY	247.00	\$50.00	\$12,350.00	247.00	\$46.00	\$11,362.00
203 EMBANKMENT CY	416.00	\$50.00	\$20,800.00	416.00	\$75.00	\$31,200.00
204 SUBGRADE COMPACTION AND PROOF ROLLING SY	807.00	\$3.00	\$2,421.00	807.00	\$7.00	\$5,649.00
209 LINEAR GRADING OF DITCHES LF	600.00	\$8.00	\$4,800.00	600.00	\$5.00	\$3,000.00
301 ASPHALT CONCRETE BASE TON	263.00	\$176.40	\$46,393.20	263.00	\$164.00	\$43,132.00
304 AGGREGATE BASE TON	263,00	\$50.00	\$13,150.00	263.00	\$100.00	\$26,300.00
402 402 LVT ASPHALT INTERMEDIATE COURSE, PG 58-28 TON	64,00	\$180.00	\$11,520.00	64.00	\$262.00	\$16,768.00
404 404 LVT ASPHALT SURFACE COURSE, PG 58-28 TON	64.00	\$186.00	\$11,904.00	64.00	\$265.00	\$16,960.00
407 TACK COAT GAL	60.00	\$7.20	\$432.00	60.00	\$3.00	\$180.00
411 STABILIZED	92.00	\$75.00	\$6,900.00	92.00	\$74.00	\$6,808.00
15 Items	Totals:		\$167,228.25			\$183,270.8

	J & J Schlaegel, Inc.				Shelly Company - Northwest	
Item	Quantity	Price	Extension	Quantity	Price	Extension
CRUSHED AGGREGATE FON						
606 GUARDRAIL REBUILT LUMP	1.00	\$23,400.00	\$23,400.00	1.00	\$13,200.00	\$13,200.00
559 SEEDING AND MULCHING SY	850.00	\$5.00	\$4,250.00	850.00	\$2.60	\$2,210.00
559 COMMERCIAL FERTILIZER FON	0.08	\$760.00	\$60.80	0.08	\$950.00	\$76.00
559 VATER (TWO APPLICATIONS) GAL	4,589.00	\$0.25	\$1,147.25	4,589.00	\$0.01	\$45.89
SPEC EXISTING SPHALT TO SE MILLED IND STOCKPILED SY	220.00	\$35.00	\$7,700.00	220.00	\$29.00	\$6,380.00
5 Items	Totals:		\$167,228.25			\$183,270.8

Item	Quantity	Boss Excavating a Price	nd Grading, Inc. Extension	
TEM LIST				
203 EXCAVATION CY	247.00	\$38.75	\$9,571.25	
203 EMBANKMENT CY	416.00	\$21.77	\$9,056.32	
204 SUBGRADE COMPACTION AND PROOF ROLLING	807.00	\$7.75	\$6,254.25	
209 LINEAR GRADING OF DITCHES .F	600.00	\$13.02	\$7,812.00	
S01 ASPHALT CONCRETE BASE ON	263.00	\$195.82	\$51,500.66	
804 AGGREGATE BASE TON	263.00	\$47.39	\$12,463.57	
102 102 LVT ASPHALT NTERMEDIATE COURSE, PG 58-28 TON	64.00	\$380.53	\$24,353.92	
104 104 LVT ASPHALT SURFACE COURSE, PG 58-28 TON	64.00	\$419.70	\$26,860.80	
107 FACK COAT GAL	60.00	\$37.31	\$2,238.60	
111 STABILIZED	92.00	\$117.75	\$10,833.00	
15 Items	Totals:		\$238,364.29	

Item	Quantity	Boss Excavating Price	and Grading, Inc. Extension		
CRUSHED AGGREGATE TON					
606 GUARDRAIL REBUILT LUMP	1,00	\$53,838.28	\$53,838.28		
659 SEEDING AND MULCHING SY	850.00	\$3.15	\$2,677.50	·	
659 COMMERCIAL FERTILIZER TON	0.08	\$22,613.63	\$1,809.09		
659 WATER (TWO APPLICATIONS) GAL	4,589.00	\$1.45	\$6,654.05		
SPEC EXISTING ASPHALT TO BE MILLED AND STOCKPILED CY	220.00	\$56.55	\$12,441.00		
15 Items	Totals:		\$238,364.29		